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QUESTION 1

Paging space on a system is almost entirely consumeD. What temporary solution can be used to prevent the system
from sending SIGKILL to processes while the administrator performs more in-depth problem determination?

A. Use swapon to flush paging space entries to physical memory.

B. Use tuning commands to change the system behavior so it does not terminate processes
C. Increase the existing paging space.

D. Use tuning commands to set the page space kill threshold to 100%.

Correct Answer: C

QUESTION 2

While trying to extend a filesystem /work an administrator receives the following error: 0516- 787 extendlv: Maximum
allocation for logical volume fslv0O is 256. What must be done to allow the filesystem to be extended?

A. Change the filesystem option of maxsz to 512 for the filesystem /work with the command chfs -a maxsz=512 /work.
B. Change the maximum Logical Partitions to 512forthefslvO0 with the command chlv- x512fslv00.
C. Change the volume groups maximum Logical Partitions per Logical Volume to 512 with the chvg -t 512 vg01.

D. Change the logical volume type to jfs2 as jfs logical volumes cannot extend passed 256 with the command chfs -v
jfs2 -m /work.

Correct Answer: B

QUESTION 3

An administrator needs to determine if system microcode is at the most current level. Which tool will identify current
microcode levels, and provide an output file which can be used by the IBM Microcode Discovery Service (MDS) for
comparison?

A. FLRT

B. invscout

C. Ismcode

D. prtconf

E. urncode_latest

Correct Answer: B
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QUESTION 4

A host is already configured to access the network, and the administrator would like to configure a second adapter on
the same system. This adapter should be permanently configured so that the new IP address is available when the
system reboots. Which command should be used?

A. ifconfig

B. ipconfig

C. mktcpip

D. chdev

Correct Answer: D

QUESTION 5

A new security policy dictates that unnecessary default user accounts be removed. Which default user IDs are most
eligible for removal?

A. nobody and adm

B. root, sys and system

C. daemon, Ipd, adm and guest
D. nuucp. Ipd, and guest

Correct Answer: D
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